## KINGDOM OF SAUDI ARABIA

GENERAL ORGANIZATION FOR TECHNICAL EDUCATION

AND VOCATIONAL TRAINING

COLLEGE OF TECHNOLOGY AT DAMMAM

STUDENTS AFFAIRS

# وثيقة تخرج Graduation Certificate

المملكة العربية السعودية

المؤسسة العامة للتعليم الفني والتدريب المهني الكلية التقنية بالدمام شئهن الطال

## **COLLEGE OF TECHNOLOGY AT DAMMAM**

certifies that

Mr. ALABBAS, ALI ABDULLAH H

ID. No 103-23-8272 has been awarded

The Associate Degree of College of Technology

from the department of **Management Technology** in the field of

Marketing

with a G.P.A of 3.09 out of 5.00 grade: **Good** in the **Summer** semester of 2004/2005; dated 07/09/2005

تشهد الكلية التقنية بالدمام بأن المتدرب / علي عبدالله حسن ال عباس ورقمه التعليمي ٢٧٢-٣٢-٣٠ قد حصل على الشهادة الجامعية المتوسطة

من قسم التقنية الإدارية في تخصص تسويق

بمعدل تراكمي ٣٠٠٩ من ٥ وبتقدير جيد في نهاية الفصل الدراسي الصيفي للعام الدراسي ٢٤٢٦/١٤٢٥ وذلك بتاريخ ٢٤٢٦/٠٨/٠٣ هـ

عميد الكلية College Dean

د. حامد بن محمد الأحمدي



رئيس شئون الطلاب Students Affairs Officer

أ. ناصر حواس الحواس

Any addition, alteration or correction renders this document invalid.

أي كشط أو تغيير في هذه الوثيقة يلغيها

#### In The Name of Allah, The Most Gracious, The Most Merciful

Kingdom of Saudi Arabia

General Organization for Technical Education

and Vocational Training

### COLLEGE OF TECHNOLOGY AT DAMMAM



Report: TCG06064E

Date: 27/09/2005

Page: 1/3

### Student's Educational And Training Report

Student No: 103-23-8272 Student Name: ALABBAS, ALI ABDULLAH H

Student ID.No: 86881

Department: Management Technology Major: Marketing

Student Gen. Status: Graduated

Semester: First

Academic Year: 2002/2003

Transfered (FROM COLLEGE OF TECHNOLOGY AT DAMMAM(Community Service Center Student Term Status:

S.No	Course Code	Course Description	Course Units	Grade	Value	Points
1.	101ETH	Professional Ethics & Communication Skills	2	F	1	2
2	101ENG	General English Language	3	С	3	9
3	141ACC	Financial Accounting -1	3	D	2	6
4	152MAR	Buyers Behavior	2	D	2	4
5	153MAR	Warehousing Management	2	F	1	2
6	161MGT	Business Management Principles	2	С	3	6

Semester	Cumulative
14	14
10	10
29	29
2.07	2.07
Satisfactory	Satisfactory
	14 10 29 2.07

Semester: Second

Academic Year: 2002/2003

Student Term Status:

Transfered (FROM COLLEGE OF TECHNOLOGY AT DAMMAM(Community Service Center

S.No	Course Code	Course Description	Course Units	Grade	Value	Points
1	101ETH	Professional Ethics & Communication Skills	2	C+	3.5	7
2	101ISL	Islamic Culture −1	2	D+	2.5	5
3	122ENG	Specialized English -1	3	В	4	12
4	153MAR	Warehousing Management	2	D	2	4
5	161STA	Introduction To Statistics	2	D	2	4
6	261ECO	Principles Of Economics	2	D	2	4

Total	Semester	Cumulative
Units	13	27
Passed Units	13	23
Total Points	36	65
G.P.A	2.77	2.41
Result	Good	Satisfactory

Semester: First

Academic Year: 2003/2004

Student Term Status:

Transfered (FROM COLLEGE OF TECHNOLOGY AT DAMMAM(Community Service Center

S.No	Course Code	Course Description	Course Units	Grade	Value	Points
1	101ARB	Arabic Language	2	С	3	6
2	102ISL	Islamic Culture -2	2	В	4	8
3	251MAR	Sales Planning	3	D+	2.5	7.5
4	252MAR	Selling Communication	3	С	3	9

Tota	Semester	Cumulative
Units	10	37
Pass Units	1 10	33
Total Point	20.5	95.5
G.P.A	3.05	2.58
Resu	t Good	Satisfactory

#### In The Name of Allah, The Most Gracious, The Most Merciful

Kingdom of Saudi Arabia

General Organization for Technical Education

and Vocational Training

#### COLLEGE OF TECHNOLOGY AT DAMMAM



Report: TCG06064E

Date: 27/09/2005

Page: 2/3

# Student's Educational And Training Report

Student No: 103-23-8272 Student Name: ALABBAS, ALI ABDULLAH H Student ID.No:

86881

Department: Management Technology

Major: Marketing

Student Gen. Status: Graduated

Semester: Second

Academic Year: 2003/2004

Transfered (FROM COLLEGE OF TECHNOLOGY AT DAMMAM(Community Service Center Student Term Status:

s.No	Course Code	Course Description	Course Units	Grade	Value	Points
1	101CMT	Introduction To Computer Applications	2	Α	4.75	9.5
2	253MAR	Distribution Channels	3	С	3	9
3	254MAR	Product Show Skills	3	C+	3.5	10.5
4	258MAR	Customer Services	3	В	4	12
5	263MGT	Computer Applications	3	B+	4.5	13.5

Total	Semester	Cumulative
Units	14	51
Passed Units	14	47
Total Points	54.5	150
G.P.A	3.89	2.94
Result	Very Good	Good

Semester: First

Academic Year: 2004/2005

Transfered (FROM COLLEGE OF TECHNOLOGY AT DAMMAM(Community Service Center Student Term Status:

S.No	Gourse Code	Course Description	Course Units	Grade	Value	Points
1	111MTH	Specialized Mathematics	3	D+	2.5	7.5
2	223ENG	Specialized English -2	3	Α	4.75	14.25
3	255MAR	Sales Problem	3	C+	3.5	10.5
4	256MAR	Market Reports	3	C+	3.5	10.5
5	257MAR	Computer Sales Applications	2	A+	5	10

Total	Semester	Cumulative	
Units	14	65	
Passed Units	14	61	
Total Points	52.75	202.75	
G.P.A	3.77	3.12	
Result	Very Good	Good	

Semester: Second

Academic Year: 2004/2005

Student Term Status:

Regular

S.No	Course Code	Course Description	Course Units	Grade	Value	Points
1.	151MAR	Market Study	3	В	4	12
2	300COO	Co-Operative Training	4	F	1	4

Total	Semester	Cumulative
Units	7	72
Passed Units	3	64
Total Points	16	218.75
G.P.A	2.29	3.04
Result	Satisfactory	Good

In The Name of Allah, The Most Gracious, The Most Merciful

Kingdom of Saudi Arabia

General Organization for Technical Education

and Vocational Training

COLLEGE OF TECHNOLOGY AT DAMMAM

Report: TCG06064E Date: 27/09/2005

Page: 3/3

# Student's Educational And Training Report

Student No: 103-23-8272

Student Name: ALABBAS, ALI ABDULLAH H

Student ID No:

86881

Department: Management Technology

Major: Marketing

Student Gen. Status: Graduated

Semester: Summer Student Term Status:

Academic Year: 2004/2005

Regular

S.No Course C		se Gradi	Value	
1	4	В	4	16

Total	Semester	Cumulative
Units	4	76
Passed Units	4	68
Total Points	16	234.75
G.P.A	4	3.09
Result	Very Good	Good

The student has been awarded The Associate Degree of College of Technology in Management Technology Department, Major -Marketing

and secured 68 total passed units and a grade of Good with a G.P.A of 3.09 on 07/09/2005 G

College/De

Dr. HAMED M. AL-AHMDI

Record End

Collége Registrar